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Imagine your data gave the if below, from a linear regression.

Here we can see the points themselves are curved suggestion non-linearity.

The residual plot below

 gives even great indication of this problem.
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Here's an example with heterogeneous variances across X
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Residual plot shows increasing spread of points with increasing X.

Note that when I take the LOG of the Y values this helps to alleviate the variance issue
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This was the data set analysed above

DATA QUEST2;

INPUT X Y;

YLOG = LOG(Y);

DATALINES;

1 1

1 2

1 1

2 1

2 3

2 5

3 1

3 3

3 6

4 1

4 4

4 8

5 1

5 5

5 10

6 2

6 6

6 13

7 2

7 7

7 15

;

PROC REG;

   MODEL YLOG = X;

RUN;

